2 TATH

. R —u ) ([
1000 T O e P

1 ko 912 WHTTHh? K= 53049, @

©“rroo| [100] [1o] [ro] [10] [ OO
[0 [
100 0] | 10| |10
(365 )
@100 [100] [ 100 o] [ro] 0O OO [ [
[0 [ [
100 100 0] [ro
(547 )

z%&?u faht BEEmT BUTHLI,

Brn Lald BEZT BUTHLD,

) 245 > —HEtTA @ +tTa=1+ - 720

€) 408 - == WAN ® J\htr - 196

® 692 - RENt= ® Za=t1tm - 334

<50

W Lw3d k2 h
3 ko H 0 —ofl. Foll. Bol o=t 53045,

® 834 —of > 4 @ 307 —om > 7

+om > 3 +om > O

gom > 8 Bom > 3
105EX10 3lE%

hAi {H REZ

72 AT} Ba /100

O MIER S O—RTEEZT, https://monomana bi.co.jp @{]ﬁ



	Sheet1

